Chapter 18: Project Schedule Management (FPM2ed p.220)
1. Project Schedule Management

2. Body of Knowledge Mapping

3. Activity List

4. Definition of an Activity

5. Calendar (Work Pattern)

6. Activity Duration

7. Definition of a Milestone
8. Time Trade-Off with other Knowledge Areas

The following questions have been designed to test your knowledge of the chapter and prompt discussion. Please note that each question could have one or more correct answers.

18.1: Which two of the following relate to the purpose of Time Management?

a. Time management is the process required to complete the project on time.

b. Time management is the process used to determine the overall project duration and when activities and events are planned to happen.

c. Time management is used to check the shape of the project to confirm it looks aesthetically attractive from different angles.
d. Time management is the process of downloading the project files onto Time Machine.

18.1 Answer: A and B are correct. C and D are incorrect.

18.2: Which two of the following relate to Project Scheduling and Time Management?
a. Project scheduling compiles the debtors’ schedule.

b. Project scheduling is the process to determine the overall project duration.

c. Project scheduling is the process of estimating the activities durations.

d. Project scheduling compiles the creditors’ schedule.
18.2 Answer: B and C are correct. A and D are incorrect as they refer to cost management functions.

18.3: Which one of the following explains why activities are linked to a Work Package? (FPM2ed p.220)
a. Activities are linked to a work package to show the logical sequence of work.

b. Activities are linked to a work package so that the work package can be subdivided into a number of activities.

c. Activities are linked to a work package to show the sunk costs.
d. Activities are linked to a work package to show the earned value.

18.3 Answer: B is correct. A, C and D are incorrect.
18.4: Which two of the following relate to developing a list of Activities? (FPM2ed p.220)
a. The list of activities should adequately define the project’s scope of work to enable the project to achieve its time objectives as set out in the project charter.
b. The list of activities identifies the activities’ dependencies.

c. The list of activities is usually developed before the WBS.

d. The list of activities calculates the sunk costs.

18.4 Answer: A and B are correct. The list of activities should fully define the project’s full scope of work. One of the methods for developing the list of activities is to identify the activities’ dependencies. C is incorrect as activities are usually developed from the work packages. D is incorrect.
18.5: If an activity is to weld 300m of fillet weld and a welder can weld 12m per day. How many days will the activity take?

a. 20 days

b. 25 days

c. 26 days

d. 30 days 

18.5 Answer: B is correct. 300/12 = 25 days
18.6: Which two of the following should the project manager Perform when estimating an activity’s duration? (FPM2ed p.226)
a. Use random guessing to estimate durations for all the activities.

b. Involve the people who will be performing the work to estimate the time they need to complete the activities.

c. Estimate the duration it will take to complete the activity and exclude contingencies.

d. Authorize the start of the feasibility study phase.
18.6 Answer: B and C are correct. A and D are incorrect. If practical, it is sensible to include the people who will perform the work in the time estimating. 

18.7: Which three of the following relate to an Activity’s Attributes? (FPM2ed p.223)
a. All activities have a number.

b. All activities have a description.

c. All activities are logically related to other activities.

d. All activities have a similar shape to align with the project.

18.7 Answer: A, B and C are correct. All activities have a number, a description and are logically related to other activities. D is incorrect as it is not an activity’s attribute.

18.8: Which two of the following relate to a project Milestone? (FPM2ed p.228)
a. A milestone is a ten-day activity.

b. A milestone obelisk marks the distance to the next town.

c. A milestone is a target start or target finish date.

d. A milestone is the completion of a deliverable.

18.8 Answer: C and D are correct. A is incorrect as a milestone has zero duration. B is incorrect as it does not relate to project scheduling.
18.9: If an activity’s level of effort is 300 man-days. How long will the activity take if there are 5 men? (FPM2ed p.226)
a. 40 days.

b. 50 days.

c. 60 days.

d. 80 days.

18.9 Answer: C is correct, 60 days.

18.10: Which three of the following relate to the Time-Cost Trade-Off? (FPM2ed p.230)

a. Time related costs reduce as the project’s duration reduces.

b. A time-cost trade-off uses Time Machine to reduce project costs.

c. A time-cost trade-off implies that reducing the project’s duration means the activities along the critical path will need to be crashed or fast-tracked.

d. Reducing the project’s duration might shorten delivery lead times and JIT, resulting in higher delivery costs (air freight instead of shipping).

18.10 Answer: A, C and D are correct. B is incorrect as Time Machine is a means to back up files.
